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1. Simplify each

Date:

Section 4.1 What are Square Roots and Simplifying Radicals

of the following radicals:

i) 36 i) V25 i) /144 iv) /3025 v) 289
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2. Convert each of the following to a Mixed Radical
i) 32 i) 24 i) /150 iv) 75 v) 108
~Joa \4nb | =fasxl =fx> |= Euf
= %ﬁ, - = _
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ix) V36+64+128 |X) V27+81+9+243 i) m Xil) 21944576 ++75 | Xiii) 328436+ 81
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ix) V36+64+128

X) 27+81+9+243

xi) V8324

[d(a+ e 32)
2(5t,

y\(’r&"\* 1+24)
~[a (D
= (1o

s >®
= Tae

=2\e{z~

Xii) 2194576 +475

J2iar2n ~sf> {(3qet(+4

& +s83 = 303
= \“‘ﬁ¢ = “ﬁ//

3. Multiply and Simplify each of the following radicals:

i) 12\Ex(_3\/@)

i) 3324 x+/54

iii) 5108 x4+/24

iv) SﬁXZJgXIZJﬁ

v) 3J48x 775

vi) 824 x-7J72

vi) 9108 x —4+/28 x 24/343

vii) 2412 x 7415 <910

ix) IZJIIXBJE
9 15

x) 4\/0_.3x(—3-Jﬁ)

xi) SJ%X(—S o._?)

i) 840343 (207 )

4. Arrange each expression in order from least to greatest

a) —6v2, =37, —2J17, -4J5, —2\21, -53

¢) 6J0.1, 330.7, 740.05, 24/0.8, 4405, 5403
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by 43, 5V3,

2V19, 62, 349, V70

Xiii) 348436 + 81




5. Simplify each of the following radicals:

i) Js1 i) \/5x8! i) ot x 3t

5!

= s b | - BD 303D l% L 3
= 7.\5 30 S LT INER IS ) - gc\iw'—h(.v-SXZ
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— 0\ -—
6. The area of a square is 845cm?. What is the perimeter of the square? Express your answer as a mixed radical

164
« ? - k\%d‘(ﬁ? ' S(—%—%’S
A= ;\{%W >

SIS = 588y

7. Oneside of asquareis 12+3x and the other side is 32 + x. What is the value of the diagonal. Express your
answer as a mixed radical

O % = ypx @ owsix O Db

) = 2430 m
E o g Uz \ —

7

<L = \O

10™
8. What is the value of “n” such that the equation is true? 10" =107 x

- < s \/1— 0.001
\O = \O « }3_1
o
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- 1O (LO )
R R )

HW CH 4 Page 3



9. Inthe figure, triangles ABC and BCD are equilateral triangles. What is the value of AD + BC when
expressed in simplest radical form?

B 22K
B D &
TN AD = 7
A C MO 243
N ——T - 5
Ya %
10. The area of a square is 8 and the perimeter is aJb , what are the values of “a’ and “b"?
\7 - el Q=18
Br=% =y 28z V=2 -

To={% =482,

11. Find the PERIMETER and AREA of the following rectangle:

i pEr gy he ()
66 | 62 G+ 'O_E_ = % U\/L\
| = lL@/

2p
12. Suppose that a = \/5 . What is the value of / ? Express your answer in simplest radical form.
q P—q

@I——/E @ 26 (ﬁ+\>
l D)
?*B(@. (& >

=L 420

©_zP S — |

= 126
- ZRC) 2
Bq-6, = 3203
_ 2253 %
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